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Run 4985 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—

Entrie=: 11077
Mean: 17.5853 «/- 0UDDED
St Dhewy: 0UF116 4~ 00040

=== Lager OFF ---
Eniries: 12122
Mean: 34080 « - 0.0038
Sid Dhey: 04140 - 00027

]

Run 4985 quartatwize, Diffs)
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=== Laser O -—

Entries: 11077
Mean: -0.9130 «/- 00072
S Dhey: 07619 - 00051

=== Laser OFF ---
Eniries: 12122
Mean: 00009 +- 0.0038
Sid Dey: 04216 -~ 00027

Run 4985 quartetwise, Asyms

=== Laser ON -—
Entries: 11077
Mean: 313306 +/- 0.2487
Sid Dev: 2617471 40~ 0L1TES

=== Laser OFF ---
Eniries: 12122
Mean: 00321 +~ 0.1315
Sid Dev: 144035 4/~ 00930
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Run 4985 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-

Entries: 11077
Mean: 18,4973 /- 000071
Sid Dhev: 0.7444 - 00050

=== Lager OFF ---
Enlries: 12122
Mean: 346871 «/- .08
Sid Dev: 04186 - 00027

Run 4985 quartatwize, Sums0

=== Laser O -—-
Entries: 11077
Mean: 36,0827 +- 0.0118
Sid Dev: 1.2412 &~ 0.00&3

== Laser OFF ---
Entries: 12122
Mean: 6.9751 +- LMDES

Sid Drev: 0187 - 00046




Run 4985 quartetwise, PosHalAccd Run 4985 quartetwise, NegHalAcc4
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Run 4385 quartatwise, Diffsd Run 4385 quartetwise, Sums4
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Run 4985 quartetwise, Asymsd

=== Laser OM -—-
Entries: 11077
Mean: 318081 +/- 0.2250
Sid Dev: 233630 +/- L1670
=== Laser OFF ---

4

A

20

Entries: 12122
Mean: -0.0129 «/- 0Ed
Sbd Dey: 70626 +~ 0.0454
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Run 43985 quartetwize, Asyms USbg1

=== Laser O -—

Entrie=: 11077
Mean: -0.0025 - QLOO2E
St Dhey: 02771 4~ D008

=== Lager OFF ---
Eniries: 12122
Mean: 00001 «- 0.0025
Sid Dey: 0LZ7ET - 00078

Run 4385 quartetwize, Asyms DSbg1

=== Laser O -—

Entries: 11077
Mean: -0.0002 «/- 0UO0DE
Sid Dhey: 0L0E0E - D.0O005

=== Laser OFF ---
Eniries: 12122
Mean: -0.0007 «/- 0L000F
Sid Drey: 0L0E0E +~ 00005

LTI
I=

Run 4385 quartetwise, Asyms Horiz Finger

=== Laser ON -—

Entries: 11077
Mean: -0.0047 < L0013
Sid Dey: 0.1508 +~ 00070

=== Laser OFF ---
Eniries: 12122
Mean: 0005 +~ 0.0014
Sid Dey: 0.1585 -~ 0.0070
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Run 4985 quartetwize, Asyms USbg2

=== Laser O -—-
Entries: 11077
Mean: 00023 «- 0018
Sid Dev: 01903 &~ 00073

=== Lager OFF ---
Enlries: 12122
Mean: -0.0003 «- 0001 ¥
Sid Dev: 01900 - 00072
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Run 4385 quartetwize, Asyms DShg2

=== Laser O -—-
Entries: 11077
Mean: -0.0006 «- 0000T
Sid Dev: 00734 - 0.000D5

== Laser OFF ---
Entries: 12122
Mean: 00008 +- 0.0007
Sid Dev: 00740 - 00005

Run 4985 quartetwise, Asyms Vert Finger

=== Laser O -—-
Entries: 11077
Mean: -0.0026 «- 00023
Sid Dev: 02370 - 00016

== Laser OFF ---
Entries: 12122
Mean: 0002 +/- 0.0025
Sid Dev: 02751 &~ 0,008
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Run 4985 quartetwize, posHI vs time
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Run 4985 quaretwize, asymisub vs fime
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Run 4985 gquartetwize, negHO vs time
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Run 4985 quartetwise, posH4 vs time
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Run 4985 quartetwize, posH4 vs time
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Run 4985 guartetwize, negH4 vs time
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Run 4985 quaretwizse, variFing vs timea
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Run 4985 quartetwize, USbg2 ve time
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